		S&L Underground, Inc.		Speedway Sand & Gravel, Inc.	Capitol Underground, Inc.	Parisi Construction Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price
Section B: Proposal Page						
10701.0 - TRAFFIC CONTROL - LUMP						
SUM	1.00	\$4,140.00	\$4,140.00	\$4,140.00	\$3,300.00	\$4,300.00
10770.0 - MAINTAIN RESIDENTIAL						
DRIVEWAY ACCESS (UNDISTRIBUTED) -						
EACH	3.00	\$1,143.00	\$3,429.00	\$415.00	\$805.00	\$150.00
10911.0 - MOBILIZATION - LUMP SUM	1.00	\$34,282.00	\$34,282.00	\$17,536.00	\$46,500.00	\$80,000.00
20101.0 - EXCAVATION CUT - C.Y.	532.00	\$19.00	\$10,108.00	\$21.70	\$29.50	\$21.25
20140.0 - GEOTEXTILE FABRIC TYPE						
SAS (NON-WOVEN) - S.Y.	396.00	\$2.50	\$990.00	\$4.00	\$4.25	\$2.40
20219.0 - BREAKER RUN - TON	285.00	\$14.20	\$4,047.00	\$13.40	\$12.00	\$13.75
20221.0 - TOPSOIL - S.Y.	485.00	\$8.50	\$4,122.50	\$3.00	\$10.00	\$10.00
20303.0 - SAWCUT ASPHALT						
PAVEMENT - L.F.	87.00	\$3.00	\$261.00	\$5.00	\$3.00	\$6.20
20322.0 - REMOVE CONCRETE CURB &						
GUTTER - L.F.	905.00	\$3.50	\$3,167.50	\$3.75	\$5.30	\$4.10
20323.0 - REMOVE CONCRETE						
SIDEWALK AND DRIVE - S.F.	1458.00	\$2.50	\$3,645.00	\$5.30	\$3.30	\$1.90
20401.0 - CLEARING - I.D.	76.00	\$39.85	\$3,028.60	\$39.45	\$39.45	\$40.75
20406.0 - GRUBBING - I.D.	76.00	\$39.85	\$3,028.60	\$39.45	\$39.45	\$40.75
20701.0 - TERRACE SEEDING - S.Y.	485.00	\$2.80	\$1,358.00	\$2.80	\$6.00	\$4.10
21063.0 - EROSION MATTING, CLASS I,						
TYPE A- ORGANIC - S.Y.	485.00	\$3.40	\$1,649.00	\$3.40	\$6.00	\$4.10
30201.0 - TYPE "A" CONCRETE CURB &		<b>*</b> • <b>-</b> • •		<b>*</b> - <b>-</b>	<b>*</b> ***	<b>*************</b>
GUTTER - L.F.	894.00	\$37.88	\$33,864.72	\$27.60	\$38.00	\$25.25
30203.0 - TYPE "X" CONCRETE CURB & GUTTER - L.F.	F1 00	¢40.00	¢0 400 40	¢07.00	¢ 40.00	ф 4 4 <b>7</b> Г
	51.00	\$42.93	\$2,189.43	\$27.60	\$43.00	\$44.75
30301.0 - 5 INCH CONCRETE SIDEWALK - S.F.	2405.00	¢7.00	¢16 925 00	\$3.10	¢C 90	\$6.20
- S.F.	2405.00	\$7.00	\$16,835.00	\$3.10	\$6.80	\$0.2U
30302.0 - 7 INCH CONCRETE SIDEWALK						
& DRIVE - S.F.	916.00	\$7.00	\$6,412.00	\$4.00	\$7.30	\$7.00
30340.0 - CURB RAMP DETECTABLE	910.00	\$7.00	<b>\$0,412.00</b>	<b>\$4.00</b>	\$7.30	\$7.00
WARNING FIELDS - S.F.	48.00	\$30.30	\$1,454.40	\$40.00	\$30.00	\$43.25
WARNING FIELDS - S.F.	40.00	φ30.30	φ1,454.40	φ <del>4</del> 0.00	φ30.00	φ <del>4</del> 3.23
40101.0 - CRUSHED AGGREGATE BASE						
COURSE, GRADATION NO. 1 - TON	306.00	\$18.30	\$5,599.80	\$15.40	\$18.90	\$16.00
	000.00	φ10.00	φ0,000.00	φ10.40	ψ10.00	ψ10.00
40102.0 - CRUSHED AGGREGATE BASE						
COURSE, GRADATION NO. 2 - TON	375.00	\$17.70	\$6,637.50	\$16.80	\$18.90	\$15.75
40202.0 - HMA PAVEMENT 4 LT 58-28 S -	010.00	ψHH 0	\$0,001.00	φ10.00	<b></b>	\$10.10
TON	870.00	\$65.66	\$57,124.20	\$65.00	\$65.00	\$67.00
40218.0 - TACK COAT - GAL	414.00	\$2.78	\$1,150.92	\$2.75	\$2.75	\$2.80
40231.0 - ASPHALT DRIVE & TERRACE -		<b>*</b> = <b>*</b>	<i></i>	<b>**</b>	<b>4</b> -11 <b>2</b>	
S.Y.	50.00	\$37.70	\$1,885.00	\$20.00	\$31.00	\$20.50
			• • • • • •			
40311.0 - PULVERIZE AND SHAPE - S.Y.	3300.00	\$2.90	\$9,570.00	\$4.45	\$4.50	\$3.60
90000.0 - MAINTAIN BIKE PATH ACCESS	1.00	\$3,270.00	\$3,270.00	\$6,100.00	\$8,000.00	\$750.00
20217.0 - CLEAR STONE - TON	495.00	\$16.30	\$8,068.50	\$14.20	\$17.10	\$16.00
21002.0 - EROSION CONTROL						
INSPECTION - EACH	3.00	\$525.00	\$1,575.00	\$525.00	\$120.00	\$300.00
21011.0 - CONSTRUCTION ENTRANCE -						
EACH	1.00	\$775.00	\$775.00	\$600.00	\$485.00	\$150.00

		S&L Underground, Inc.		Speedway Sand & Gravel, Inc.	Capitol Underground, Inc.	Parisi Construction Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price
21012.0 - STREET CONSTRUCTION						
ENTRANCE BERM - EACH	2.00	\$205.00	\$410.00	\$600.00	\$365.00	\$230.00
21013.0 - STREET SWEEPING - LUMP						
SUM	1.00	\$1,432.00	\$1,432.00	\$1,500.00	\$6,240.00	\$3,000.00
21015.0 - STREET CONSTRUCTION STONE BERM - EACH	11.00	\$205.00	\$2,255.00	\$210.00	\$310.00	\$160.00
21018.0 - SILT SOCK (8 INCH) -	80.00	\$205.00 \$8.00	\$640.00	\$210.00	\$8.45	\$10.25
21019.0 - SILT SOCK (8 INCH) - REMOVE	00.00	ψ0.00	ψ0+0.00	φ0.00	ψ0.+0	φ10.20
& RESTORE - L.F.	80.00	\$2.00	\$160.00	\$2.00	\$3.40	\$5.20
21032.0 - INLET PROTECTION TYPE C -						
PROVIDE & INSTALL - EACH	2.00	\$160.00	\$320.00	\$160.00	\$120.00	\$100.00
21033.0 - INLET PROTECTION TYPE C -						
MAINTAIN - EACH	2.00	\$80.00	\$160.00	\$80.00	\$25.00	\$52.00
21034.0 - INLET PROTECTION TYPE C -	2.00	¢ 40.00	¢00.00	¢40.00	¢45.00	¢50.00
REMOVE - EACH 21049.0 - INLET PROTECTION RIGID	2.00	\$40.00	\$80.00	\$40.00	\$45.00	\$52.00
FRAME - PROVIDE & INSTALL - EACH	15.00	\$325.00	\$4,875.00	\$325.00	\$170.00	\$260.00
21050.0 - INLET PROTECTION RIGID	10.00	ψ020.00	φ-,070.00	ψ020.00	φ170.00	φ200.00
FRAME - MAINTAIN - EACH	15.00	\$120.00	\$1,800.00	\$120.00	\$25.00	\$52.00
21051.0 - INLET PROTECTION RIGID						
FRAME - REMOVE - EACH	15.00	\$60.00	\$900.00	\$60.00	\$50.00	\$52.00
50401.0 - 12 INCH TYPE I RCP STORM						
SEWER PIPE - L.F.	117.00	\$82.60	\$9,664.20	\$77.40	\$76.40	\$78.00
50741.0 - TYPE H INLET - EACH	10.00	\$2,687.00	\$26,870.00	\$3,443.70	\$2,600.00	\$2,700.00
20313.0 - REMOVE INLET - EACH 20336.0 - PIPE PLUG (STORM) - EACH	7.00 3.00	\$382.00 \$257.00	\$2,674.00 \$771.00	\$250.00 \$250.00	\$705.00 \$350.00	\$570.00 \$150.00
50211.0 - SELECT BACKFILL FOR	3.00	φ257.00	\$771.00	φ230.00	\$350.00	\$150.00
STORM SEWER - T.F.	1002.00	\$0.01	\$10.02	\$0.01	\$0.01	\$1.00
50225.0 - UTILITY TRENCH PATCH TYPE			• • •	•	,	• • • •
III - T.F.	26.00	\$105.10	\$2,732.60	\$90.00	\$140.00	\$100.00
50227.0 - UTILITY TRENCH PATCH TYPE						
IV - T.F.	848.00	\$10.30	\$8,734.40	\$6.78	\$10.75	\$14.00
50402.0 - 15 INCH TYPE I RCP STORM	400.00	<b>\$00.00</b>	<b>#0.000.00</b>	<b>\$00.75</b>	<b>*</b> 05 40	<b>#</b> 00.00
SEWER PIPE - L.F. 50403.0 - 18 INCH TYPE I RCP STORM	103.00	\$89.60	\$9,228.80	\$88.75	\$85.40	\$69.00
SEWER PIPE - L.F.	180.00	\$92.90	\$16,722.00	\$85.94	\$75.30	\$73.00
50404.0 - 21 INCH TYPE I RCP STORM	100.00	Ψ02.00	ψ10,722.00	φ00.04	¢70.00	φ <i>1</i> 0.00
SEWER PIPE - L.F.	33.00	\$87.00	\$2,871.00	\$86.34	\$76.25	\$100.00
50405.0 - 24 INCH TYPE I RCP STORM						
SEWER PIPE - L.F.	223.00	\$95.40	\$21,274.20	\$89.73	\$81.00	\$83.00
50419.0 - 19 INCH X 30 INCH TYPE I		<b>•</b> · · • • • •	<b>*</b> = ( <b>*</b> ( <b>* *</b>	<b>*</b> / <b>*</b> = <b>*</b> =	<b>*</b> / <b>*</b> * <b>*</b>	<b>*</b> ( <b>* * *</b>
HERCP STORM SEWER PIPE - L.F.	60.00	\$119.40	\$7,164.00	\$135.27	\$126.25	\$120.00
50432.0 - 12 INCH TYPE II PAVEMENT STORM SEWER PIPE - L.F.	166.00	\$71.70	\$11,902.20	\$76.59	\$73.00	\$69.00
50433.0 - 15 INCH TYPE II PAVEMENT	100.00	φ/1./Ο	φ11,902.20	\$70.55	\$75.00	\$09.00
STORM SEWER PIPE - L.F.	27.00	\$77.60	\$2,095.20	\$86.00	\$82.70	\$72.00
50435.0 - 24 INCH TYPE II PAVEMENT		•	• • • • • •	,	•	•
STORM SEWER PIPE - L.F.	94.00	\$84.00	\$7,896.00	\$89.73	\$86.90	\$100.00
50482.0 - 19 INCH X 30 INCH HERCP AE -						
EACH	1.00	\$1,300.00	\$1,300.00	\$918.10	\$1,560.00	\$2,200.00
50622.0 - 19 INCH X 30 INCH HERCP AE	4.00	A700.00	A700.00	<b>*•</b> • • • •	<b>#</b> 000 00	<b>.</b>
GATE - EACH	1.00	\$728.00	\$728.00	\$644.40	\$800.00	\$400.00
50723.0 - 3'X3' STORM SAS - EACH 50724.0 - 4'X4' STORM SAS - EACH	7.00 1.00	\$4,192.00 \$5,572.00	\$29,344.00 \$5,572.00	\$2,900.00 \$3,355.00	\$3,755.00 \$4,685.00	\$3,400.00 \$3,700.00
	1.00	φ <u></u> σ,σ <i>τ</i> 2.00	φ3,372.00	φ <del>3</del> ,355.00	φ4,000.00	φ3,700.00

	S&L Underground, Inc.		Speedway Sand & Gravel, Inc.	Capitol Underground, Inc.	Parisi Construction Co., Inc.	
Item	Quantity	Price	Extension	Price	Price	Price
50767.0 - TERRACE INLET TYPE 2 - EACH	1.00	\$7,728.00	\$7,728.00	\$4,510.00	\$6,035.00	\$8,900.00
50768.0 - TERRACE INLET TYPE 3 - EACH 50801.0 - UTILITY LINE OPENING	1.00	\$5,330.00	\$5,330.00	\$2,675.00	\$4,815.00	\$7,900.00
(STORM) - EACH 50802.0 - CONCRETE SUPPORTS -	7.00	\$612.00	\$4,284.00	\$600.00	\$775.00	\$760.00
EACH 90030.0 - WATER ADJUSTMENTS	2.00	\$1,320.00	\$2,640.00	\$1,500.00	\$1,015.00	\$1,200.00
(UNDISTRIBUTED) - EACH 90031.0 - 22.50 24-IN TYPE II PAVEMENT		\$4,599.00	\$9,198.00	\$5,664.00	\$4,625.00	\$2,500.00
STORM BEND - EACH 20311.0 - REMOVE SEWER ACCESS	1.00	\$1,118.00	\$1,118.00	\$1,571.10	\$1,400.00	\$2,300.00
STRUCTURE (SANITARY) - EACH 20335.0 - ABANDON SEWER PIPE WITH	4.00	\$899.00 \$1,270.00	\$3,596.00 \$6,477.00	\$765.00	\$910.00	\$570.00
SLURRY - C.Y. 20336.0 - PIPE PLUG (SANITARY - UNDISTRIBUTED) - EACH	5.10 1.00	\$1,270.00	\$6,477.00	\$467.00 \$432.10	\$1,275.00 \$180.00	\$270.00 \$150.00
20501.0 - ADJUST SEWER ACCESS STRUCTURE - EACH	3.00	\$472.00	\$1,416.00	\$559.00	\$336.00	\$360.00
50103.0 - RECONSTRUCT BENCH AND FLOWLINE(S) - EACH	1.00	\$758.00	\$758.00	\$2,345.00	\$975.00	\$1,200.00
50212.0 - SELECT BACKFILL SANITARY SEWER - T.F.	842.00	\$0.01	\$8.42	\$0.01	\$0.01	\$1.00
50227.0 - UTILITY TRENCH PATCH TYPE IV - T.F.	757.00	\$8.80	\$6,661.60	\$6.78	\$11.90	\$14.00
50301.0 - 8 INCH PVC SANITARY SEWER PIPE (SDR 35, SDR 26) - L.F. 50353.0 - SANITARY SEWER LATERAL	666.00	\$113.00	\$75,258.00	\$136.68	\$110.85	\$140.00
(SDR 35, SDR 26) - L.F.	176.00	\$56.50	\$9,944.00	\$18.37	\$37.00	\$34.50
50356.0 - RECONNECT - EACH 50361.0 - WASTEWATER CONTROL -	7.00	\$2,720.00	\$19,040.00	\$3,344.70	\$2,975.00	\$3,300.00
LUMP SUM 50390.0 - SEWER ELECTRONIC	1.00	\$2,609.00	\$2,609.00	\$5,400.00	\$3,300.00	\$750.00
MARKERS - EACH	16.00	\$81.00	\$1,296.00	\$40.00	\$45.00	\$53.00
50701.0 - 4' DIA. SANITARY SAS - EACH 50702.0 - 5' DIA. SANITARY SAS - EACH	2.00	\$3,289.00 \$5,084.00	\$6,578.00	\$4,677.50	\$3,400.00	\$4,300.00
50783.0 - INSIDE DROP - V.F.	1.00 5.60	\$5,084.00 \$175.00	\$5,084.00 \$980.00	\$6,363.30 \$299.00	\$6,425.00 \$344.00	\$7,900.00 \$390.00
50791.0 - SANITARY SEWER TAP - EACH 50801.0 - UTILITY LINE OPENING	4.00	\$1,384.00	\$5,536.00	\$1,200.00	\$1,525.00	\$2,800.00
(SANITARY) - EACH 50721.0 - 3'X3' CATCHBASIN - EACH 70002.0 - FURNISH AND INSTALL 6 INCH	2.00 2.00	\$400.00 \$2,860.00	\$800.00 \$5,720.00	\$600.00 \$4,310.00	\$770.00 \$4,945.00	\$760.00 \$7,100.00
PIPE & FITTINGS - L.F. 70003.0 - FURNISH AND INSTALL 8 INCH	30.00	\$114.00	\$3,420.00	\$159.16	\$90.00	\$190.00
PIPE & FITTINGS - L.F. 70031.0 - FURNISH AND INSTALL 6-	435.00	\$116.00	\$50,460.00	\$153.95	\$106.25	\$150.00
INCH WATER VALVE - EACH 70032.0 - FURNISH AND INSTALL 8-	3.00	\$2,137.00	\$6,411.00	\$3,247.85	\$2,135.00	\$2,900.00
INCH WATER VALVE - EACH 70040.0 - FURNISH, INSTALL AND	3.00	\$2,788.00	\$8,364.00	\$3,815.95	\$2,620.00	\$3,500.00
SALVAGE HYDRANT - EACH	2.00	\$6,514.00	\$13,028.00	\$6,973.33	\$5,630.00	\$6,300.00

		S&L Underground, Inc.		Speedway Sand & Gravel, Inc.	Capitol Underground, Inc.	Parisi Construction Co., Inc.
Item	Quantity	Price	Extension	Price	Price	Price
70053.0 - REPLACE 1-INCH COPPER						
SERVICE LATERAL - EACH	1.00	\$1,600.00	\$1,600.00	\$3,534.70	\$2,870.00	\$3,700.00
70056.0 - RECONNECT 1-INCH SERVICE						
LATERAL - EACH	5.00	\$1,515.00	\$7,575.00	\$2,439.04	\$1,870.00	\$1,700.00
70057.0 - RECONNECT 1 1/2-INCH						
SERVICE LATERAL - EACH	1.00	\$1,540.00	\$1,540.00	\$2,201.95	\$2,990.00	\$2,000.00
70058.0 - RECONNECT 2-INCH SERVICE						
LATERAL - EACH	1.00	\$1,675.00	\$1,675.00	\$4,861.69	\$3,340.00	\$2,200.00
70080.0 - CUT-IN OR CONNECT TO						
EXISTING WATER SYSTEM - EACH	4.00	\$2,262.00	\$9,048.00	\$4,670.00	\$1,805.00	\$2,200.00
70090.0 - ABANDON WATER VALVE						
BOX - EACH	5.00	\$191.00	\$955.00	\$210.00	\$185.00	\$450.00
70101.0 - FURNISH AND INSTALL						
STYROFOAM - EACH	8.00	\$119.00	\$952.00	\$105.00	\$120.00	\$23.50
70104.0 - ADJUST WATER VALVE BOX						
SECTIONS - EACH	8.00	\$217.00	\$1,736.00	\$234.00	\$185.00	\$300.00
70111.0 - FURNISH AND INSTALL						
ANODE - EACH	3.00	\$240.60	\$721.80	\$310.00	\$345.00	\$270.00
97 Items	Totals		\$704,056.11	\$724,100.36	\$732,644.24	\$787,173.45